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remove page joke about rape.



[ Motion]
THBT Facebook should
remove page joke about rape.

4 )
[LATIZDLVTE AL Ioke S EREIZAE>TLY
HAT=A57? ] \

\FE:)L\:)Argument’Et:'u'l'i‘liL\L\AJTf7.35 ? ] y




[ Motion]
THBT Facebook should
remove page joke about rape.

a4 )
[LATIZDLVTE AL Ioke S EREIZAE>TLY
HAT=AD7? ] \
[ESLV3ArgumentZEHE IXWL\WVAT=AD 2 ]

\_ J

—YYAZRAWNTEALEMNTEET




[Argument’&%iéf:&b@tﬂ L J

MDTheme #r
—[ZBH T B T4 R—FNEZS

Q& IZAY T
—motionMDZEIFZAMIZDODNNTHHITSH

BKeyword 73 T
—motionMDKeyword[ZDWNTHHTI 5



[ Motion]
THBT Facebook should

remove page joke about rape.

<GovDiFE >
MDThemeS T
-RITDE
‘rapeZzrib 9 _ETHENDEEEZFNHH
QFIGAND
M DrapetEE . X A—TILFEA
-facebook@user :teenagerTd EHLYANZLY
@B Keyword 73 4T
*Facebook:user£ 2 THY. L vialhFoHHY .
ITFERDILENE . ZLE HHKEL
-joke :rapel 2% T HERZNGEA A—FFSIFTLED




3) ArsumentDIEZA A

a )

TlEXArgumentz ED EDITIZEA B ?

\ _/




[Argument@*ﬁhﬁgi ]

(PDSignpost
(21 sentence(conclusion)
(3How does it happen?(process)

@Why is it so important?(importance)



Good

@Importance

t Opp:(Problem) Process t enefit

Bk CC j; x|
(Status Quo Plan (After PIan)

Gov:Problem arm

ArgumentDIEREZD A A—TH

Bad



[ Motion]

THBT Japan should join TPP.

(PDSignpost

—Promotion of exporting industry
(21 sentence(conclusion)

—TPPIZEZ MY 5T, IRETHLTLOEMILESR

EXIETAIEMTES

3How does it happen?(process)
— <IRR > EiH E R O EHEL

<JFE>EHA

-

MG KD Frv R

@Why is it so important?(importance)

'Eﬁil--l EL%' J:%)EA
-BRILKICHFIEEFMEL. FURO B

DL K. Job opportunityD N



2
[ArgumentDRAAT(ZDLVT])

(DPractical argument

—>FEE(AINIELH, EFEIZED)

(2 Principle(Philosophical argument)

—RER A
(EZIIDPERRIGBENOE— 3V T Y R—k)




: =5 _.A.
(Practical ArgumentDi5 &) Good

@Importance

' Opp:(Problem) (@Process t enefit

Bk CC j; x|
(Status Quo Plan (After PIan)

Gov:Problem arm

ArgumentDIEREZD A A—TH

Bad



. . B A,
(PrincipleDHZE) Good

PEIRE, PBHRETHEL DReasoningZT7+—HR

' Opp:(Problem) i tBenefit

BR CC j; E
(Status Quo Plan (After PIan)

GovVv:Problem Harm

ArgumentDIEREZD A A—TH

Bad



[ Motion]
THBT Facebook should
remove page joke about rape.

(PDSignpost
—Freedom of expression
(21 sentence(conclusion)

—Freedom of expression|d#&xt #9735+ D TLKL,
E=FBICTHLTREREZMASIGEHIEDNRELS
B3)Reasoning
—{f|l Z [ violent TV. hate speech’i &L HEIZEZ S
B ZRBLRFIDXNRELTH>TULVS, RapeE DL S
MNEEICEZ S A=V DFRZNMEZZEEL T, RapeZ
BIRLIEAESGIokelFIRF T ARETH S,




p
TIEERRIZArgumentZZ 2 T.
T YR HEEELTHFELELD

JEE1)ArgumentDZEZ A
JEE2)ArgumentDIE A A



SHE1) ArsumentDZEZH

[;& 3 Motion1)
THBT Japanese Government should
abolish death penalty.

Gov. OppDArgumentZ& AT

HT TN (1072[E)

—&ESLVIArgumentH N B LN DUV =hY,
1% TSignpost&ConclusionZF F 3k
LTEHLLVET




[;EE Motion1]

THBT Japanese Government should
abolish death penalty.
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